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	STEP 1: Read about it 
Text should be short, complex and worthy of a close read. Select a text that allows you to deepen your students understanding of your content standards.  

	
TN State Standard – Biology – SPI 3210.4.1 – Identify the structure and function of DNA.

Title – “Molecular Structure of Nucleic Acids: A Structure for Deoxyribose Nucleic Acid”
Author – Dr. James D. Watson & Dr. Francis H. C. Crick
Lexile – 1100L
Link - http://www.nature.com/physics/looking-back/crick/index.html





	STEP 2: Think about it
Students experience the text for a second time paying attention to specific details or concepts prompted by teacher questions.  Focus here is on context and building academic vocabulary.

	
1. Where do you see applications of the scientific method in Watson and Crick’s work?
2. What are some of our new vocabulary terms that you found in the article?
3. Were Watson and Crick the first to build a model for DNA or did they build on the work of others?




	STEP 3: Talk about it 
Teacher leads the class in a discussion of the text through text-based questions, pushing students for deeper meaning and textual evidence to support their claims.   Teacher may keep the class in whole group discussion or break into smaller groups to drive discussions.  Focus here is on context and building academic vocabulary.

	
1. The article is titled “A Structure for Deoxyribose Nucleic Acid,” although we learned in class that DNA is an abbreviation for Deoxyribonucleic acid.  What does the name of DNA say about the molecules contained within it?

2. Based upon your answer to #1, which version of the name for DNA is more correct (Deoxyribose nucleic acid or Deoxyribonucleic acid)? Explain your answer citing evidence from the text to support your choice.

3. In the opening paragraphs of the article, Watson and Crick make short work in dismissing the structures for DNA proposed by Pauling and Corey (1953), Fraser (1953), and Furberg (1952).  What was the key issue Watson and Crick deemed unacceptable with each one of the aforementioned structures?  (*This question also begins preparing students for the writing prompt)

4. In paragraph 5 (in the second column), Watson and Crick note, “At lower water contents we would expect the bases to tilt so that the structure would become more compact.”  Which form of DNA are the scientists describing? Explain the prior knowledge and/or additional research used to determine your answer.

5. Why do Watson and Crick believe it would be “impossible” to build DNA with a ribose sugar in place of the deoxyribose sugar?  Were they correct in this assumption?  Back up your response by citing evidence from the article and providing reasoning to support your evidence.

6. INFER:  Based purely upon classroom discussions and the information included within this article, connect the two following quotes from the article and use them to devise a possible mechanism for DNA replication: “…if only specific pairs of bases can be formed, it follows that if the sequence of bases on one chain is given, then the sequence on the other chain is automatically determined…” and  “It has not escaped our notice that the specific pairing we have postulated immediately suggests a possible copying mechanism for the genetic material.”




	STEP 4: Write about it 
Students should now put their new learning into writing by responding to a prompt.   Academic language should be used accurately in writing.  Data Analysis should be included if appropriate.

	
Many alternative conformations of the structure of DNA were introduced prior to Watson & Crick’s anti-parallel, double-helical structure, and each is discussed in “A Structure for Deoxyribose Nucleic Acid”.  Using textual evidence from the article (and your own prior knowledge), explain why Watson & Crick’s model is the most scientifically viable conformation of those presented.
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